# AMENDMENT NUMBER TWO TO PROFESSIONAL SERVICES AGREEMENT WITH ABSOLUTE CONSULTING ENGINEERS INC.

This Amendment Number Two ("Amendment") is made and entered into as of the 29th day of June, 2021 ("Effective Date"), by and between the CITY OF COSTA MESA, a municipal corporation ("City"), and ABSOLUTE CONSULTING ENGINEERS INC., a California corporation ("Consultant").

WHEREAS, City and Consultant entered into an agreement on June 30, 2020 for Consultant to provide engineering design services (the "Agreement"); and

WHEREAS, on January 28, 2021, City and Consultant amended the Scope of Services and increased Consultant's maximum compensation accordingly; and

WHEREAS, City and Consultant now desire to amend the Scope of Services to include the additional services set forth in Exhibit "A," attached hereto and incorporated herein by this reference; and

WHEREAS, City desires to increase Consultant's maximum compensation accordingly to Forty-Eight Thousand Seven Hundred Twenty-Five Dollars (\$48,725.00); and

WHEREAS, City and Consultant further desire to extend the term of the Agreement for two (2) years, through June 29, 2023; and

WHEREAS, City and Consultant intend and desire that this Amendment be effective retroactive to the Effective Date.

NOW, THEREFORE, for valuable consideration, the receipt and sufficiency of which is hereby acknowledged, the parties agree as follows:

- This Amendment shall be effective retroactive to the Effective Date.
- 2. The Scope of Services shall be amended to include the additional services set forth in Exhibit A.
- 3. Section 2.1 of the Agreement shall be amended to reflect that Consultant's total compensation shall not exceed Forty-Eight Thousand Seven Hundred Twenty-Five Dollars (\$48,725.00). Consultant shall be paid in accordance with the fee schedule set forth in Exhibit A, on a progress basis as set forth in the Agreement.
- 4. The term of the Agreement shall be extended through June 29, 2023.
- 5. All terms not defined herein shall have the same meaning and use as set forth in the Agreement.
- 6. All other terms, conditions, and provisions of the Agreement not in conflict with this Amendment shall remain in full force and effect.

7. This Amendment may be executed in one or more counterparts, each of which shall be deemed an original. All counterparts shall be construed together and shall constitute one agreement.

IN WITNESS WHEREOF, the parties hereto have caused this Amendment to be executed by and through their respective authorized officers, as of the date first written above.

CITY OF COSTA MESA	
Oit Manager	Date: Colupa
CONSULTANT  K May PE, Ph D  Signature  K Nava " SAUM", PREMINENT  Name and Title	Date: <u>0/3)/202</u>
Branda Green 10/13/2021 Elity Clerk	The state of the s
APPROVED AS TO FORM:  City Attorney	Date: 7/30/21
APPROVED AS TO INSURANCE:  Risk Management	Date: 9/20/21
APPROVED AS TO CONTENT:  Project Manager	Date: 9/22/21

# 

# EXHIBIT A ADDITIONAL SERVICES



### Absolute Consulting Engineers Total Design and R & D Engineers

## **PROPOSAL**

Proposal #: CMFS#1
Addendum 2

#### Client Name and Address:

Arash Rahimian, P.E.
Senior Engineer
City of Costa Mesa
77 Fair Drive, Costa Mesa, CA 92626
Arash.Rahimian@CostaMesaCA.Gov
Office: 714-754-5096

#### Project Name & Location:

Humidity Control Addendum 2
COSTA MESA FIRE STATION 1
1570 Adam Ave, Costa Mesa

#### Dear Mr. Rahimian,

The following is an addendum to original contract proposal for professional Engineering Design Services for the reduction of humidity level at CMFD#1 based on the original evaluation performed. This will include additional services:

- A. Complete Technical Support for bidding process. Per attached tabulation
- B. Construction administration: Response to RFI, Submittals, issues during construction, contract compliance inspection during the inspection, scheduled periodic meetings with contractor, final punch list, close-out package, review of final as-built.

Project Description is given in the scope of work and any item not indicated in the scope of work shall be considered as additional services.

Absolute Consulting Engineers
Absoluteco.com

### Scope

- Technical Support for bidding process:
  - · Project narrative and
  - Project sequencing
  - Mandatory Job Walk
  - Response to all written RFC: Request For Clarifications
- Construction administration:
  - · Response to RFI,
  - · Submittals,
  - · Responses to issues during construction,
  - · Contract compliance inspection during the inspection,
  - Scheduled periodic meetings with contractor,
  - Final punch list,
  - · Close-out package review,
  - · Review of final as-built.



Construction Administration Technical Support for bidding	Rate	Hours	Amount
process:			
Project narrative and	\$195.00	4	\$780.00
Project sequencing	\$195.00	1	\$195.00
Review of bids for contractor qualifications	\$195.00	0	\$0.00
Mandatory Job Walk	\$195.00	5	\$975.00
Response to all written RFC: Request For	720.00		
Clarifications	\$195.00	8	\$1,560.00
Review of all bids for harmonizing scope	\$195.00	0	\$0.00
Construction administration: Response to RFI,	\$195.00	10	\$1,950.00
Submittals,	\$195.00	10	\$1,950.00
Responses to issues during construction,	\$195.00	10	\$1,950.00
Contract compliance inspection during the inspection,	\$195.00	20	\$3,900.00
Scheduled periodic meetings with contractor,	\$195.00	20	\$3,900.00
Benchmark control of construction progress	\$195.00	0	\$0.00
Final punch list,	\$195.00	6	\$1,170.00
Close-out package review,	\$195.00	4	\$780.00
Review of final as-built.	\$195.00	2	\$390.00
	CA	Total	\$19,500.00

### Proposed Fees for the addendum as described are:

**Construction Administration** 

\$19,500.00

Absolute Consulting Engineers
Absoluteco.com